SECTION A
Question 1

1 ¥'per correct answer
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QUESTION 2

1 mark per row

Number Natural | Integer | Rational | Irrational| Real

2.1 3 v v v v
22 V25 v v v v

2.3 — v v

2.4 3,12 v v

2.5 2,315... v v

[5]
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QUESTION 3

3.1.1 18 or 24 ¥ (accept either one)
31.2 49 v
31.3 13 v

3.1.4 B8 or 24 v (accept either one)

3.1.5 137
3.1.6 24v
3.2
2| 360 v for ladder/factor tree, -1 per mistake
2 180
2 90
3 45
3 15
5 5
1

360 =23 x 32 x 5v

QUESTION 4
41 2-4(-5)v=22v
42 (16x2v-8v)+3=8v

13 ()G

(D) () =B oxtm e
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QUESTION 5

5.1 Four terms v
1
52 v
53 2v
5 _
5.4 "T + 7y — 6y + 2¢ ¥ (-1 per error)
55 4 7(=1)* = 6(=1)+2¥
=- 474642V =145 ¥
QUESTION 6
6.1 3av
6.2 a'v
6.3 —b6av
6.4 —3a’*+5a°v =2a*v
6.5 —8Bxivv
6.6 —15a*hv v v
6.7 4a°bhBv v v
6.8 3x’yv —5xy*v
6.9 —3x+6v—=-8x—=12v==11lx -6+
610 T
. =
611 o=ty
10x2 2
6.12 Ba'e’vvyvy
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QUESTION 7
M

711 x+3Y
712 p—5Y (1)
713 mnvY (1)
7.1.4 5x*v (1)
715 4(x+y)vY (2)
7.21 x=—14v (1)
7.22 x=-72 (1)
7.2.3 12v =3xv

x =4 (3) 3
7.24 4x—-8v —-2x-2v =4

2x = 14v

=7 (4)
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